WALT: Solve multiplication word problems and prove the answer.

Which has the most hiscuits:
4 packets of hiscuits with 5 in each
packet, or 6 packets of hiscuits with 2 in
each packet?

Prove youwr answer

Which has the most sweets:

5 bags with 10 sweets in each bag, or 8
bags with 5 sweets in each bag?

Prove yowr answer

Which has the most pencils:

2 pencil cases with 5 pencils in each case, or 5
pencil cases with 2 pencils in each packet?

Provegouramu\fer

Which has the most apples:

9 bags with 5 apples in each hag, or 5 bags
with 7 apples in each bag?

Prove yowr answer




